Math 160 Standard Deviation Handout
1.    We speak to five families and we record the number of TV’s in their house. We want to find the mean and the 
       standard deviation.
        a. Find the mean.                 
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       b. Find the variance and standard deviation.
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       c. Find the z-score for a value of 2. 
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 =   -0.85, so not quite a full step down from the mean.
       d. Put the mean found in part c in the middle of the line below. Add one standard deviation up. Subtract one down. 
           How many data points are between those two? What percentage of the data points are in there?
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2,5, and 8 are in there, so 3 data points out of 5
=  0.6 or 60%
2.    Eight people take a 10 question quiz. Their grades were: 8, 7, 3, 6, 7, 5, 10, 10
        a. Find the mean.                 
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       b. Find the variance and standard deviation.
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        c. Find the z-score for a value of  8. 
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       d. Put the mean found in part c in the middle of the line below. Add one standard deviation up. Subtract one down. 

           How many data points are between those two? What percentage of the data points are in there?
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